
Model No.M9200 FINISHING SANDER



Model No.M9200 FINISHING SANDER

Item N
o.

Parts No. Description
Interc
hange
ability

Q'ty
New/
Old

Sales Pric
e (USD)

Purchase 
Price(USD

)
Note1 Note2

001 266326-2 វ◌សក◌ប◌លឡេស◌◌ម◌នក 4X18 3

002 453856-4 គម◌របខ◌ងលេ 1

003 266326-2 វ◌សក◌ប◌លឡេស◌◌ម◌នក 4X18 2

005 687124-5 អង◌គ◌ខ◌សែ 1

006 682569-2 រប◌◌ងក◌រព◌រខ◌សែ 8-85 1

007 691284-7 ខ◌សែភ◌លេង 0.75-2-2.0 1

008 B-80422 CARBON BRUSH SET CB-419A 1

009 643995-0 ជេងទប◌ធ◌យ◌ង 2

010-1 654532-5 ប◌ល◌កដ◌ម◌ណ◌ 1P 1

011 651527-9 ក◌ងត◌ក◌ 1

012 456016-7 សម◌បកម◌◌ទ◌រ 1

014 850W67-4 ផ◌ល◌កឈ◌មេ◌ M9200 1

015 635098-4 ខ◌នេយ 220V 1

016 266351-3 វ◌សក◌ប◌លឡេស◌◌ម◌នក 4X35 2

017 210137-7 ប◌ដ◌ងគ◌រ◌ប◌ឃ◌ល◌ 606ZZ 1

018 681675-0 ក◌ក◌អ◌◌ស◌ឡង◌ 1

019 517688-4 ស◌ណ◌◌ដ◌◌ភ◌លេង 220V 1

D10 INC. 17,18,20,21

020 267806-1 រ◌ង 9 1

021 211092-6 ប◌ដ◌ងគ◌រ◌ប◌ឃ◌ល◌ 629DDW 1

022 419917-0 ប◌រអប◌ប◌ដ◌ង 1

023 266326-2 វ◌សក◌ប◌លឡេស◌◌ម◌នក 4X18 4

024 241669-3 កង◌ហ◌រ 65 1

025 266455-1 វ◌សក◌ប◌លម◌ក M4X12 2

026 324781-5 គន◌ល◌◌ 2

027 424023-8 ប◌ពង◌អេប◌◌ង 9 4

028 213983-7 រ◌ញរ◌ងអក◌សរ O 4 4

029 318151-8 ជេងទប◌ 4

030 213983-7 រ◌ញរ◌ងអក◌សរ O 4 4

031 419918-8 ប◌ត 1

032 210107-6 ប◌ដ◌ងគ◌រ◌ប◌ឃ◌ល◌ 6001ZZ 1

033 267349-3 ក◌ក◌ស◌ប◌ែត 6 1

034-1 265175-4 វ◌ស M4X10 1

035 158796-8 បន◌ទ◌ 1

036 251308-7 វ◌សក◌ប◌លម◌ក M4X10 4

037 424078-3 គម◌រប 28 1

A01 794195-6 ក◌រដ◌ស◌ខ◌ត◌ 1

Please state Parts No. when your order. Print Date 06/21/2023


